Multiplication Reasoning Chilli Challenges!

Please note these sheets do not need to be printed off. You can write them out on paper or simply show
your child on a screen. They need to show their working out on another bit of paper.
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I buy a packet of chocolate
biscuits. I eat two biscuits
each day. The biscuits last
{)or 8 days. How many
iscuits were in the packet?

A gardener plants 2 rows of Gina and Milly share out a ; 9’
daffodil bulbs, and plants 5 in  bagful of cherries. They each
each row. How many daffodils  have 9 cherries. How many were =
will they have? there in the bag altogether?
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I find 6 pairs of gloves in a drawer. How many gloves are there altogether?
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How many days are in 2 weeks?

How about 4 weeks?
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Show your working out.




A gardener plants 5 rows of Gina and Milly equally shared
daffodil bulbs, and plants 6 in  out a bagful of cherries. There
each row. How many daﬁodlls was one left over. Both girls had
will they have? 12 cherries.

How many cherries would have
been in the bag?
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[ have 30 seeds and 5
plant pots. If I use the same
number of seeds in each
pot, how many seeds will I
plant in each pot?

How many minutes are there in 2 hours? @ @ @ @
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How many minutes are there in 15 hours?

Show your working out. [j
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A box contains 5 rubbers. 30 children are given a rubber each. How many boxes of rubbers

are needed?

Miss Sands has 2 packs of pens with 10 in each. How many pens are there in
total?

Fred has 5 plant pots with 5 sunflower seeds in each. How many sunflowers will
grow in total?



A gardener plants 5 rows of Gin, Tim, Ben and Milly

daffedil bulbs, and plants 9 in  equally shared out a bagful

each row. How many daffodils  of cherries. There was one

will they have? left over. They each had 4
cherries.

How many cherries have been
in the bag?
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How many minutes are there in 3 hours? Seven groups of 10 children

ao on a trip to the museum.
ow many children go on
the trip?
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How many minutes are there in 35 hours?

Show your working out. C]

Mrs Nash thinks that 2 x 9 = 19. Mrs Brown thinks that 2 x 9 = 18. Who is correct
and why? Show your working and write a sentence to explain your reasoning.

Cam has 7 packets of ice lollies. There are 3 lollies in each packet. How many are
there in total?

Jamie wants to go to the fair. He needs £1 to enter. How many 10p’s does he
need to make £1? What would the multiplication sentence be?

Tim has 3 boxes of eggs with 6 in each. Jess has 5 boxes of eggs with 4 in each.
Who has more eggs?



